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Read the following passage and answer the questions that follow. Words marked with an

asterisk (*) are defined in the Notes section at the end of this passage.
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Adapted from Walker, J. A. & Chaplin, S. (1997). Visual Culture: An Introduction.
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(1) Translate the underlined part (A) into Japanese.

(2) Put the words in the underlined part (B) in the correct order. The word that comes at the

beginning of the sentence is also shown with a small letter.

(3) Choose the best option to fill in the blank of (C) from the list below and answer with the

corresponding letter.

(@) we should regard our societies as ‘inherently singular’

(b) we should identify plural cultures with a singular culture

(c) we should refer to our societies as ‘singular’ rather than as ‘plural’
(d) we should realise plural cultures no longer exist in a globalised world

(e) we should speak of ‘cultures’ in the plural rather than ‘culture’ in the singular

@) Choose the best option for the blanks of (D) and (E) from the list below and answer with the

corresponding letter.
(@) challenge (b) conflict (¢) harmony
(d line (e) obstruction (f) support

(5) As for the underlined part (F)The way American mass culture is exported around the globe is an

obvious example, what factors enable American mass culture to be exported around the globe?

Answer in Japanese.

(6) Select all the options that match the claims of the authors from the following and answer with

the corresponding letter (s).

(@) Culture is independent of nature, and both are not interrelated to each other.

(b) There is a possibility that the winner of a war suppresses the culture of the loser.

(c) Globalisation should be accelerated to eliminate wars caused by cultural differences.

(d) Some countries have taken measures to fight against the cultural influence of the U.S.A.

() The aggressive characteristics of humans are derived from the diversity of culture.
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Read the following passage and answer the questions that follow. Words and phrases marked

with an asterisk (*) are defined in the Notes section at the end of this passage.
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Adapted from Zhang, S. (September 13, 2022). The Atlantic.

Notes:
optometry: the practice or profession of examining the eyes
quintuples: to make or become five times as great
glaucoma: abnormally high fluid pressure in the eye
retinal: adjective form of retina, a thin layer of tissue that lines the very back of the inside of the eyeball
retinal detachment: an eye condition where the retina becomes separated from its normal position
ophthalmology: the medical science dealing with the anatomy, functions, and diseases of the eye
optometrist: a person who practices optometry

fraternal ones (twins): twins resulting from the fertilization of two separate eggs

(I) What kind of emotion is implied in underlined (A)Oh no, not them too? Choose the most

appropriate one from below. Write the corresponding letter.

(@) curious (b) disappointed (c) envious (d) indifferent (e) relieved

(2) The following paraphrases the underlined (B)she saw more and

eyesight that seeme| of nowhere. Fill in the blanks of [ i Jand [ ii ] with

the most appropriate word respectively.

she noticed an increasing number of young patients with poor eyesight, even if they had no such

[ i ] background from their [ i 1.
(3) Put the words in the square brackets of (C), (D), and (F) into the correct order.

(4) As for the underlined part (E), explain why the rise in the number of young myopia patients is
considered an urgent global-health pi . Answer the question in English after the phrase “It is

because” on the answer sheet.



(5) Select the most appropriate sentence for each blank from [ 6)) 1 through [ ©) ]

from the list below. Write the letter corresponding to the sentence on the answer sheet.
(a) Now our modern lives are close-up and indoors
(b) The cause of this remarkable deterioration in our vision may seem obvious

() By now, scientists have moved past the faulty assumptions that myopia is purely genetic

(6) What does (G)two sides of the same coin mean in the passage? Answer the question in English

by filling in the underlined blanks on the answer sheet. Use the words near work and outside in

your answer.

(7) Select all the means mentioned in the passage that try to stop the progression of myopia. Write

the corresponding letter(s) on the answer sheet.

(@) Fitting metal bars on school desks to stop students from leaning too close to their work
(b) Adding up the number of hours spent in front of a book or screen

(¢) Limiting written exams at school before a certain age

(d) Recruiting more young people into the military

(e) Wearing glasses or contacts

(f) Taking ripe fruit

(8) In the last sentence of the third paragraph, which is underlined by a wavy line (), it says
that the recent pandemic lockdowns seem to have made Chinese children’s eyesight even worse.
What reasons can you give for this statement? Write your answer in about 50 words of English. In

the parentheses provided at the end of this section of the answer sheet, write your total word count.

(9) To protect children’s eyesight from the possible damage caused by smartphone use, write an
English essay of about 200 words that includes all of the responses to the following three questions,
(i) through (iii). In the parentheses provided at the end of this section of the answer sheet, write

your total essay word count.

(i) What measures can you propose to protect children’s eyesight in the future?
(ii) What difficulties would there be in accomplishing what you have described in ( i)?

(ii) How do you solve the difficulties you have described in (ii)?
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@) It is because

(6) The more time , the less time
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